
Rewrite each sentence using the appropriate negative contraction from the

word box.

Example: Ralph has lost his way.

Ralph hasn't lost his way.

1) The cows are in the meadow.

2) Henry is playing the guitar.

3) The ant could crawl out of the box.

4) Did you spread apricot jelly on the toast?

5) Greg will draw or paint today.

6) We have built a dog house for Brownie.

7) There are tulips and roses in my garden.

8) Susan has baked cupcakes and cookies for us.
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Name :

Negative Contractions

could not = couldn't

is not = isn't

will not = won't

have not = haven'tare not = aren’t

did not = didn't

has not = hasn’t
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